w20 B RS A | 0 A B4 % A 53 How/x
AU AR ST A

EHRAE T TEgE HEAN 1 0223 570 3
K RAEHER | ASEET oI |

1 ik Ko og < HREID I

B gl =0
‘2 Sudaplac STERAS K 2)593 DG
%) ( o #<0

P C“]i/sz% +>’27 :)Yi— CocA LA aé(%é{

l T 7 A 2)
n y(o):o/ g’co)::o

3 QXOREpRA IRH 42 O
(%) R
A:: [2 ) -2 ] (3)

| \ — | )
<j7 0 Az &5{@;%
(575

(570)(2) Az ?;f;?%&/“/a /42> g 4F s o0
) A8 B8 B

(FEVIH AR E BB IEL)




R

@ 210 XL B ShA S | 028 T - T A %3 K BpE
AT SRR AR S
ZERE - e | SEO% 0223 % : 3

¥ BEHIE AT TR A

\Uﬁ%v\wﬂ A D R9ES ﬁﬁ’/“ i _F?%/y
| ‘W%«ﬁ AR

o ‘2 ex X+ 3?5— dj'ﬁ (€x47f)0)*z NE)
(o,z,l)
ey Sdf Ae 51 .

5%

5 ”7 g %f AL 613 3 51 161312

QZO%) 6)2 9 T -5 S

| 37(2 Jé/
Bounoij condition : ‘
“T(0,9Y>=0, T(O, 9 :éoum/;»a’, l/q/u(

T ($0y=x, T (A 0)= 0




Wyt 210 BAILARII A% 1028 4 RERE IR 4 sl 3t 3 E’%BE'
RATEER ¢ s S S ST A R4 : .
EHFLH - IREHE AL : 0223+ §i% 1 3

3K CEEFTE AR A ER
L —Glz Tob) o K (6) B3 . B E 1RORS
@) Wik ¢ 3 12ERIE (s) -
Pt = 2t 4 2mt] 4 A F 4)
SHan ThA 1% —24
¢h D D(Q(zﬁﬂﬁ?)gz ( unsk %“’W“ZL vector ) ¢ @L
th2) gg@ ¥ ﬁ) (unit normakt veckv) ¢ &,
eHs ) gr@ @j {ﬁ% (unit binormad vecor) Q,

\ N /
@/Dﬁ4’) Eﬁf}z Ccur\/a;ewe) (Hink: S, = a’@,,L)

Kds
2 en
ﬁ
/—'—“ﬁ ‘ .
b
C
0 —>Y




